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Sides )
)	Algebra 
1) (a + b)2 = a2 + 2ab + b2
2) a2 – b2 = (a + b) (a – b)
3) (a – b) 2 = a2 – 2ab + b2
4) (a – b)3 = a3 – 3a2b + 3ab2 – b3 
5) (a + b) 3 = a3 + 3a2b + 3ab2 + b3
6) a3 – b3 = (a – b) (a2 + ab + b2) 
7) a3 + b3 = (a + b) (a2 – ab + b2)
8) x3 + y3 + z3 – 3xyz 	= 	(x + y + z) (x2 + y2 + y2 – xy – yz – zx  = 
½ (x + y + z) [ (x – y) 2 + (y – z) 2 + (z – x) 2]
9) a3 – b3 + c3 + 3abc = (a – b + c) (a2 + b2 + c2 + ab + bc – ca)
10) 
Comparing Quantities : 
i. Profit = S.P. – C.P.
ii. Loss = C.P. – S.P.
iii. Profit % = (Profit / C.P.) x 100
iv. Loss % = (Loss / C.P.) x 100
v. C.P. = S.P. / (1+P%)
vi. S.P. = C.P. – (Loss% x C.P.)
vii. Amount = Principal + Interest1
viii. S.I. = (P x R x T)/100, P = Principal, R = Rate, T = Time, S.I. = Simple intrest for yearly 
ix. A = P (1 + R/100)n A = Amount, R = Rate, n = Numbers of years
x. Discount = Marked Price – Sale Price.
xi. Discount % = (Discount / Marked Price) x 100
xii. A = P (1 + R/200)2n A = Amount, R = Rate, n = Number of years, for half yearly.
Mensuration :
1. Perimeter of a regular Polygon = Number of sides x length of one side.
2. Area of Parallelogram = base x height
3. Area of trapezium = half of the sum of the length of parallel sides x perpendicular distance between them.
4. Area of rhombus – half the product of its diagonal
5. Volume of cube = (I)3
6. 1 cm3 = 1ml
7. 1 L = 1000 cm3
8. 1 m3 = 1000000 cm3
9. ao = 1
MATHEMATICS

SECTION:A
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  SECTION:B
[image: ]

4. If a die is thrown once, what is the probability of getting a prime number?
5. A coin is tossed 200times and tail is obtained 128 times. Now, if a coin is tossed at random, what is  the probability of getting a tail?
6 In 100 throws of a dice, 5 is obtained 42 times. In a random throw, what is the probability of getting  a 5? 
7. A bag has 6 red balls and 8green balls. A ball is drawn from a bag without looking in to the bag. What is the probability of getting a green ball?
8. What is the probability of occurrence of an event?
9. There are 216workers in a factory and in which 75are laborers. What would be the central angle of  the sector representing laborers in the pie chart ?
10 . If 45%of the people residing in a locality are Hindus, then what is the central angle of the sector  representing the Hindus in the pie chart?
11 . The weekly pocket expenses (in rupees) of 30students of a class are given below:  62 ,80 ,110 ; 75 ; 84 ; 73 , 60  , 62,  100 , 87 , 78  , 94 ,117, 86, 65, 68,; 90,; 80,118 ,72; 95; 72; 103;  96; 64; 94; 87; 85; 105; 115 Construct a frequency table with class intervals 60-70 and so on.
12. The marks of a student in different subject are given below: Represent the below data by a bar  graph.
13. The monthly income of a family is Rs14400. The monthly expenditure of the family on various  items is given below. Represent the given data by a pie chart. Item, Rent ,Food ,Clothing ,Education Savings Expenditure 4000 , 5400,  2800 , 1800,  400 
14. The data on religion wise division of 1080 workers of a factory are given below: Represent thegiven data by a pie chart.
    Religion  ,Hindu  ,Muslim  ,Sikh  , Christian
   Numbers of workers     :450 ,270  ,255  ,105
15. If a dice is thrown. What is the probability of getting: (i) an odd number (ii) a multiple of 3 (iii) a  perfect square numbers (iv) a number less than 4?
Subject     Maths Science Hindi English Social science
Marks    75      70     50     55            65 
16 . Three unbiased coins are tossed together. Find the probability of getting: (i) all heads (ii) two  heads (iii) one head (iv)At least two head [ hint : Possible outcomes are HHH, HHT, HTH, HTT, THH, THT, 
TTH and TTT  Ans:  1/8 , 3/8 , 3/8,1/2(HHH, HHT, HTH and THH)]
17 . Find the probability that a leap year selected at random will contain 53 Sundays.[2/7]
18. One card is drawn from a pack of 52 cards, each of the 52 cards being equally likely to be drawn.
Find the probability that the card drawn is : (i) an ace (ii) either red or king (iii) a face card (iv) a red 
face card) [ 1/13, 7/13, 3/13,3/26]
19. Two dice are thrown simultaneously. Find the probability of getting: (i) a doublet i.e. same number on both dice. (ii) The sum as a prime number.[n=6 1/6,5/12]
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SECTION:F

8th Square And Square Roots 
1. What will be the unit digit of the squares of the following numbers?
(i) 81  (ii) 272  (iii) 799 (iv) 3853(v) 1234 (vi) 26387 (vii) 52698 (viii) 99880 (ix) 12796 (x) 55555
  [ hint:  52 = 25 So, 555552 will have 5 at unit’s place]
2. The following numbers are obviously not perfect squares. Give reason.
(i) 1057 (ii) 23453 (iii) 7928 (iv) 222222 (v) 64000 (vi) 89722 (vii) 222000 (viii) 505050
[Numbers having only  0, 1, 4, 5, 6, and 9 at unit’s place and even number of zeroes at the end, are perfect squares.]
3. The squares of which of the following would be odd numbers?(i) 431 (ii) 2826 (iii) 7779 (iv) 82004
4. (i) Express 49 as the sum of 7 odd numbers.
 (ii) Express 121 as the sum of 11 odd numbers.
5. Without adding, find the sum.
(i) 1 + 3 + 5 + 7 + 9
 (ii) 1 + 3 + 5 + 7 + 9 + I1 + 13 + 15 + 17 +19
 (iii) 1 + 3 + 5 + 7 + 9 + 11 + 13 + 15 + 17 + 19 + 21 + 23
6. How many numbers lie between squares of the following numbers?
  (i) 12 and 13  (ii) 25 and 26   (iii) 99 and 100
[992 = 9801 , 1002 = 10000 ,Now, 10000 - 9801 = 199  So, there are 199 - 1 = 198 numbers lying between 992 and 1002 ]
7. Write a Pythagorean triplet whose one member is. (ii) 14  (iii) 16  (iv) 18
[ As we know 2m, m2+1 and m2-1 form a Pythagorean triplet for any number, m>1.]
7. What could be the possible ‘one’s’ digits of the square root of each of the following numbers?
(i) 9801 (ii) 657666025  (iii) 998001 (iv) 99856 [ 42 = 16 and 62 = 36, hence, 4 and 6 are possible]
8. Without doing any calculation, find the numbers which are surely not perfect squares.
(i) 153 (ii) 257 (iii) 408 (iv) 441 [ Option 1 can be a perfect square, others can’t be perfect squares because the unit digit of a perfect square can be only from 0, 1, 4, 5, 6, 9]
9. For each of the following numbers, find the smallest whole number by which it should be multiplied so as to get a perfect square number. Also find the square root of the square number so obtained.
(i) 252  (ii) 180  (iii) 1008  (iv) 2028  (v) 1458  (vi) 768 
10 . For each of the following numbers, find the smallest whole number by which it should be divided so as to get a perfect square. Also find the square root of the square number so obtained.
(i) 252 (ii) 2925 (iii) 396 (iv) 2645 (v) 2800 (vi) 1620 
 11. The students of Class VIII of a school donated Rs 2401 in all, for Prime Minister’s National Relief Fund. Each student donated as many rupees as the number of students in the class. Find the number of students in the class.
12. 2025 plants are to be planted in a garden in such a way that each row contains as many plants as the number of rows. Find the number of rows and the number of plants in each row.
13 Find the smallest square number that is divisible by each of the numbers 4, 9 and 10.
14. Find the smallest square number that is divisible by each of the numbers 8, 15 and 20.
 15. Find the number of digits in the square root of each of the following numbers (without any calculation).               (i) 64 (ii) 144 (iii) 4489 (iv) 27225 (v) 390625
[ If there are even number of digits in square then number of digits in square root = n/2
If there are odd number of digits in square then number of digits in  square root [n+1] /2 ]
16. Find the square root of the following decimal numbers.(i) 2.56 (ii) 7.29(iii) 51.84(iv) 42.25(v) 31.36
17. Find the least number which must be subtracted from each of the following numbers so as to get a perfect square. Also find the square root of the perfect square so obtained.
(i) 402  (ii) 1989  (iii) 3250  (iv) 825  (v) 4000
 18. Find the least number which must be added to each of the following numbers so as to get a perfect square. Also find the square root of the perfect square so obtained.
(i) 525 (ii) 1750  (iii) 252  (iv) 1825  (v) 6412
19. A gardener has 1000 plants. He wants to plant these in such a way that the number of rows and the number of columns remain same. Find the minimum number of plants he needs more for this.
20. There are 500 children in a school. For a P.T. drill they have to stand in such a manner that the number of rows is equal to number of columns. How many children would be left out in this arrangement.
8th Cube and cube root
21. Find the one.s digit of the cube of 3031
22. Without actually finding the cubes find the value of 21- 203
23. Is 32 a perfect cube?
24. Express 132 as the sum of two consecutive integers.
25. What will be the unit digit of the square of 3873?
26. Why 2332 is not perfect square ?
2 7. Cube of any odd number is even. Yes/No Why?
28. Find the cube root of 27000.
29. Find the cube root of 17576 through estimation.
8. Anubhav makes a cuboid of plasticine of sides 5 cm, 3 cm, 5 cm. How many  such cuboids will he need to form a cube?
 30. Is 5488 a perfect cube? If not, find the smallest natural number by which 5488 must be multiplied so that the product is a perfect cube
31. Is 5324 a perfect cube? If not, then by which smallest natural number should   5324 be divided so that the quotient is a perfect cube?
8th Cube and cube root
32. Find the square root of the following by means of factors   i) 529 2. ii) 298116 
33 Find the smallest number by which 252 must be multiplied to get a perfect  square. Also, find  the  quare root of the perfect square so obtained.  
34. Find the smallest number by which 2925 must be divided to get a perfect  square. Also, find the square root of the perfect square so obtained.  
35. Find the least square number, exactly divisible by each one of the numbers 6,  9, 15 and 20
36. Find the least square number exactly divisible by each one of the numbers 8,  12, 15, 20.  
37. Find the square root of:   (a)  9126441   (b) 63409369 
38. Find the least number that must be subtracted from 7581 to obtain a perfect  square. Find the perfect square and its square root.   
39. Find the least number that must be added to 506900 to make it a perfect  square. Find its perfect square and its square root.   
40. Find the least number of 4 digits that is a perfect square.  
41. The area of a square field is 60025 m 2. A man cycles around its boundary at  18 km per hour. In how much time will he return at the starting point?  
42. The sides of a rectangular field are 80 m and 18 m respectively. Find the length of its diagonal.  
 43 Find the square root of  (a) 14. 10.0469 (b) 15. 0.00038809 
44. Find the value of the following up to three places of decimal:      
45 A decimal fraction is multiplied by itself to give the product 0.007569. Find  the decimal fraction.  
  46. The area of a square playground is 291.0436 square meters. Find the length  of each side of the playground.  
 47 Find the square root of:   (1)  25 +544/729     (ii)   21  + 2797/3364    (iii)    3 + 334/3025  
48. Find the square root of: (i)  √7/2
49. Find the value  of Sq.root under 103.0225 and hence write down the square root of   (i) Square root under 10302.25 (ii)  1.030225  
 50 Evaluate:         (i ) √72 x √338 ·   (ii ) √ 45 x√20  (iii ) √147 x  √243    ·   
51. The area of a square field is   80+244/729  square meters. Find the length of each  side of the field

52  Show that 63504 is a perfect square. 

53 . Find the smallest no. by which 25200 should be divided so that result is aperfect square. 

54. Find the greatest no. of 6-digit which is a prefect square. 

55  Find the least no. of 6-digit which is a prefect square. 

56 . Write Pythagorean triplet whose one number is 14. 

57 . Find the square root of 298116 by long division method. 

58 . Find the square root of 3013696 by long division method. 

59 . A welfare association collected Rs202500 as donation from the residents. If each paid as many rupees as there were residents, find the no. of residents. 

60 . Find the square root of 121 and 169 by repeated subtraction method. 

61. A teacher wants to arrange maximum possible no. of 6000 students in a fieldsuch that the no. of rows is equal is the no. of column. Find the  no. of rows if 71 were left out after arrangement.

62. Find the values of  
[image: http://4.bp.blogspot.com/-ECW8CKc4FHc/T8WlLEu0NfI/AAAAAAAAAxQ/Kds-ts9x2-k/s1600/2..jpg]

63. Simplify  
[image: http://1.bp.blogspot.com/-UIQFTNmqA7o/T8WlKGrkazI/AAAAAAAAAxI/aYT3qppkYgk/s1600/1..jpg]

64. Find the square root of 237.615 correct to 3 places of decimal. 

65 . What is the smallest no. by which 3087 must be divided so that the quotient is a prefect cube? 

66 . Evaluate {(242 +72)½}3. 
67. Evaluate  
[image: http://3.bp.blogspot.com/-_XQm-w6ghBw/T8WlMnfCdiI/AAAAAAAAAxY/jzXvWRTLmmw/s1600/3..jpg]
68. Find the volume of a cube whose surface area is 384m2 . 

69 Find the volume of a cube, one face of which has an area of 64m2 . 

70. Show that -17576 is a prefect cube. 

71. Find the cube root of 140x2450. 

72. Divide the no. 26244 by the smallest no. so that the quotient is a prefect cube. Also, find the cube root of the quotient . 

73 Find the smallest square number divisible by each one of the numbers 8, 9 and 10. 

74. The area of a square field is 5184 m2. A rectangular field, whose length is twice its breadth has its perimeter equal to the perimeter of the square field. Find the area of the rectangular field. 

75  Three numbers are to one anther 2:3:4. The sum of their cubes is 33957. Find the numbers.
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SCIENCE 

( Synthetic Fibres and Plastics) 

Q1. Give some examples of Natural and Synthetic fibres. 
Q2. What are monomers and polymers ? 
Q3. What is polymerisation ? 
Q4. What is Rayon ? Why is it not truly an artificial fibre ? 
Q5.Give some features and uses of Terylene and acrylic fibres. 
Q6. What are the advantages of synthetic fibres ? 
Q7. Write some disadvantages of synthetic fibres. 
Q8. What are plastics ? What are its different types ? 
Q9. Differentiate between Thermoplastics and Thermosetting plastics. 
Q10. What are the characteristics of synthetic plastics ? 
Q11. Differentiate between biodegradable and non-biodegradable. 
Q12. Give some measures to control the damage caused by plastic waste. 
Q13. Name the first fully synthetic fibre. What are its different uses ? 
Q14. Should the handle and bristles of a tooth brush be made of the same material ? Explain your answer. 
Q15. Explain why the following materials are made of thermosetting plastics – 
(i) Saucepan handles      (ii) Kitchenware

REPRODUCTION IN ANIMALS ) 

Q.1. Define the following terms -- reproduction , hatching. 
Q.2.Explain the process of budding in hydra and yeast. 
Q.3. How does external fertilization take place in frogs? 
Q.4. Explain the male reproductive system in humans. 
Q.5.Draw the diagram of human sperm and explain its structure. 
Q.6. Differentiate between asexual and sexual reproduction. 
Q.7. Why does a child show some characteristics of the father and some of the mother? 
Q.8. Explain the importance of reproduction in organisms. 
Q.9. Differentiate between oviparous and viviparous animals. 
Q.10.Why do fish and frogs lay eggs in hundreds whereas a hen lays only one egg at a time?

CROP PRODUCTION AND ITS MANAGEMENT) 

Q1 What is crop production? 
Q2 Define agriculture and agricultural practices. 
Q3 What are rabi crops? 
Q4 Write agricultural practices required for growing crops. 
Q5 What is soil made up of ? 
Q6 Write short note on ”SOWING”and “SEED DRILL”. 
Q7 What is manuring? Why is it important? 
Q8 How do farmers prepare manure? 
Q9 What are the advantages of manure? 
Q10 Why is overuse of fertilizer harmful? 
Q11 How do leguminous plants help in increasing the nitrogen content of the soil? 
Q12 Define irrigation. How is it done ? 
Q13 Why is the minimum use of pesticides advised? 
Q14 What is harvesting? What are its different methods? 
Q15 What is winnowing? How is it done? 
Q16 Why do we sundried the grains before storing? 
Q17 What is green revolution? 
Q18 Why were Mexican wheat introduced in India? 
Q19 Define – Hybridization , Emasculation . 
Q20 Why is cross breeding done? 
Q21 Where is hybridization done? 
Q22 How can we provide food to a large number of people in our country? 
Q23 Why can paddy not be grown in the winter season? 
Q24 Why do some plants grow better than others? 
Q25 Explain how fertilizers and manures are different from each other.

8th Synthetic fiber and plastic
Q. Why do we wear clothes?
Ans: We wear clothes for protection against climate and to look smart. Fabric is the material that is used to make clothing or household articles.
Q. Of what material fabrics are made of?
Ans: Fabrics are made up of smaller threads or hair like structure. single hair like structure  is called a fibre. Short fibres are called  Staple fibre . Long fibers are called   Filament fibre
Q. What is natural fibre?
Ans: Fibers obtained from natural sources like plants and animals is called natural fibre. e.g. cotton, Jute, silk, wool, etc
(i)Vegetable Fibres: fibres which are obtained from different plants are called Vegetable Fibres.  For example Cotton is obtained from seed of the plant, jute is obtained from the stem of a plant and coir is the outer covering of coconut
(ii) Animal Fibres: fibres which are obtained from different animal sources is called a Animal Fibres eg sheep goat, rabbits ,camels and silk worm..
Q. What are man-made fibers?
Ans:  Fibres  that are obtained from chemical substance are called manmade fibres. E.g. rayon, polyester, nylon, acrylic (cashmilon)   etc. The first man-made fibre is known as rayon.
Q. State whether the following are true or false and correct the false statements:
(i) Fibre is the basic unit of all fabrics.      (T)                        
 (ii) Filament are short fibres.(F)
(iii) Jute is the outer covering of coconut.(F)                       
(iv) Silk is prepared from the stem of a plant.(F)
(v) Polyester is a staple fibre. (F)
Q. How you distinguish natural fibre and synthetic fibre?
Ans :  BURNING TEST  helps to identify fibers.
	COTTON AND RAYON
	Catches fire easily
	burn with a bright yellow flame
	ash

	SILK AND WOOL
	Does not catch fire easily

	Do not burn with a bright yellow flame
	Black crushable bead

	NYLON, ACRYLIC
	Does not catch fire . melts flame  Shrinks away from No definite smell Hard,

	Shrinks away from flame. Burns with
	



Q. How yarn is made?
Ans: A yarns is a continuous strand made up of a number of fibers which are twisted together.
The process of making yarns from fibres is called spinning. Here the fibres are not only twisted but also pulled out or drawn.
Spinning can be done by using a takli (spindle), a charkha or a spinning machine
Q. State whether the following are true or false:
(i) Yarn is made of a number of fibres.
(ii) Staple fibres are used to make a yarn.
(iii) Spinning is a process of making fibres.
(iv) Spinning increases the strength of yarns.
(v) Twisting increases the strength of the yarns.
(vi) Smoothness of a yarn depends on the twisting of the fibres.
(vii) Blends are made from different fibres.
Q. Define weaving?
Ans: Weaving is the process of interlacing two sets of yarns at right angles to each other to make a fabric. Weaving is done on looms. Hand operated looms are called handlooms and power operated ones are called power looms. Knitting is interlooping of one or more set of yarns
Q1. Fill in the blanks:- Ch.Synthetic Fibers and Plastics
1. Clothes are made up of ______________ which are made from __________.
2. The polymer cellulose is made up of a large number of __________units.
3. Silk fibre is obtained from _____________ whereas artificial silk is obtained by chemical treatment of __________.
4. The polymer polyester is made up of repeating units of ______________.
5. Synthetic fabrics soak ________ water than the natural fabrics and take__ time to dry.(less/more)
6. Polythene which is used to make polythene bags is an example of a ________.
7. Iron rusts when it is exposed to ______________ and _____________.
8. Plastics do not react with ______________ and __________________.
9. Plastics are generally ___________________ than metals.
10. ________________ is a special plastic on which oil and water do not stick.
Q2. Answer the following:
1. Define a polymer.
2. Name a few synthetic fibres.
3. List the unique characteristics of synthetic fibres which make them popular dress materials.
4. Explain why plastic finds such a variety of uses.
5. Differentiate between thermoplastics and thermosetting plastics.
6. List the three characteristic properties of plastics.
7. What are the advantages of using a plastic container?
8. Why do electrical wires have plastic covering?
9. Why recycled plastic should not be used for storage of food?
10. Differentiate between a biodegradable and a non-biodegradable material

METALS
1) Occurrence of metals and non metals :-
•Out of the 92 naturally occuringelements 70 are metals and about 22 are nonmetals. Some elements show properties of both metals and non metals. They are called metalloids.
•Only some metals like gold, silver, platinum etc are found in the free state. Most metals are found in the combined states as oxides, sulphides, carbonates, silicates etc.
•Some non metals are found in the free state like helium, neon, argon etc. and some are found in free and combined states like sulphur, phosphorus etc.
2) Metallurgy :-
•Metallurgy:-is science of extraction of metals from their ores and their purification.
•Minerals:-are naturally occuringsubstances containing one or more elements or their compounds.
•Ore:-is a mineral from which one or more metals can be extracted profitably.
•Metallurgical processes:-consists of three main steps. They are :-i) Concentration of the ore ii) Reduction iii) Refining
•Concentration of the ore:-is the removal of impurities from the ore.
•Reduction:-the process of obtaining the metal from its compound.
•Refining:-is the process of purification of the impure metals to obtain the pure metal.
3) Physical properties of metals and non metals:-
•Metals
•Metals are solids (except mercury).
•Metals are hard (except sodium, potassium etc.
•Metals have metallic lustre.
•Metals have high melting points and bolilingpoints.
•Metals are malleable ( can be made into thin sheets).
•Metals are ductile (can be made into thin wires).
•Metals are good conductors of heat and electricity.
•Metals are sonorus(produces sound).

•Non metals
•Non metals may be solids, liquids or gases.
•Non metals which are solids are brittle (diamond is the hardest).
•Non metals do not have lustresome have a dull luster.
•Non metals have low melting points.
•Non metals are not malleable.
•Non metals are not ductile.
•Non metals are bad conductors of heat and electricity (except graphite).
•Non metals are not sonorous
4) Chemical properties of metals and non metals:-
a) Reaction with oxygen:-
Metals react with oxygen to form metallic oxides. These oxides are  basic oxides because they react with water to form bases. Eg. Magnesium burns in air to form magnesium oxide. Magnesium  reacts with water to form magnesium hydroxide.
2 Mg + O2--2 MgO
MgO+ H2O-  Mg(OH)2
Non metals react with oxygen to form non metallic oxides. These  oxides are acidic oxides because they react with water to form  acids.
Eg. Sulphurburns in air to form sulphurdioxide. Sulphurdioxide  reacts with water to form sulphurousacid.
S + O2-----SO2
SO2+ H2O--- H2SO3
b) Reaction with water:-
Metals react with water to form metal hydroxides and hydrogen.
Eg. Sodium reacts with water to form sodium hydroxide and  hydrogen.
2 Na + 2 H2O -------  2Na OH + H2
Magnesium reacts with water to form magnesium hydroxide and hydrogen.
Mg + H2O Mg(OH)2+ H2
Non metals do not react with water.
c) REACTION WITH ACIDS:-
Metals react with acids to form metallic salts and hydrogen.
 Eg. Zinc reacts with dilute hydrochloric acid to form zinc chloride  and hydrogen.
Zn + 2 HCl ---------------ZnCl2+ H2
Most non metals do not react with acids.
Some non metals like sulphur reacts with concentrated nitric acid to forn sulphur dioxide, nitrogen dioxide and water.
S + 4 HNO3       ----------- SO2+ 4 NO2+2 H2O
d) Metals replace metals:-
A more reactive metal replaces a less reactive metal from its salt  solution.
Eg. Magnesium replaces copper from copper sulphate solution to form magnesium sulphate and copper.
Mg + CuSO4---------------- MgSO4+ Cu
Zinc replaces copper from copper sulphate solution to for zinc sulphate and copper.
Zn + CuSO4------------------ ZnSO4 + Cu
Iron replaces copper from copper sulphate solution to form iron sulphate and copper
Fe + CuSO4---------- FeSO4+ Cu
Based on the reactivity of metals, they can be arranged in the decreasing order of their activity.
5) Activity series of metals :-
The arranging of metals in the decreasing order of their reactivity is called activity series of metals.
In decreasindg order
Potassium
Sodium
Magnesium
Aluminium Decreasing
Zinc order of
Iron reactivity
Lead
Copper
Silver
Gold
6) Noble metals :-
Metals like gold, silver, platinum etc. retain their lustre because they do not react with air, water or acids. So they are called noble metals.
Gold dissolves in aqua regia. Aqua regia is a mixture of concentrated nitric acid and concentrated hydrochloric acid in the ratio 1:3.
Pure is 24 carat gold. It is very soft and cannot be used for making ornaments. So it is mixed with some silver or copper to make it hard.
7) Uses of metals :-
Iron :-is used for making pins, nails, nuts, bolts, tools,
machines, construction of buildings, bridges etc.
Aluminium :-is used for making utensils, wires, furniture,  parts of aircrafts, vehicles, machines, for packing food and medicines etc.
Copper :-is used for making wires, vessels, electric  gadgets etc.
Gold :-is used for making jewellery, coins medals etc
Silver :-is used for making jewellery. Coins, medals etc.
Platinum :-is used for making jewellery, electric gadgets, plugs in vehicles etc.
Sodium :-compounds are used as common salt,  chemicals etc.
Calcium :-compounds are used for making cement, glass etc.
8) Uses of non metals:-
Sulphur:-is used for making sulphuric acid, salts of  metals etc.
Oxygen:-is used for respiration by living things, burning  of fuels etc.
Nitrogen:-is used for making ammonia which is used for  making fertilizers.
Hydrogen:-is used for making ammonia which is used for making fertilizers, as fuel in rockets, for welding etc.
Chlorine:-is used to kill germs in water.
Iodine:-is used as tincture iodine which is an antiseptic
10) Corrosion:-
The surface of some metals gets corroded when exposed  to moist air for a long time. This is called corrosion.
Prevention of corrosion of metals:-
The corrosion of metals can be prevented by:-
i) Applying oil or grease.
ii) Applying paint
iii) Galvanisation ( coating of metals with non corrosive metals like zinc)
iv) Electroplating ( coating of metals with non corrosive metals like chromium tin by passing
electricity)
v) Alloying ( Eg. When iron is alloyed with chromium and nickel, it forms stainless steel which is resistant to corrosion) 
Metal and Non metal
1. Of these, the most ductile metal is ___________.
1. Al 
2. Au
3. Cu
4. Ag          
2. Which oxide of a metal gets reduced only by coke and not by H2 gas or CO gas?
1. Fe2O3
2. PbO
3. ZnO
4. CuO    
3. Which of the following metals is extracted only by electrolysis?
1. Zn
2. Al
3. Fe
4. Cu        
4. The metal reacting readily with cold water is ___________.
1. Au
2. Ag
3. Na
4. Mg     
5.Which of the following metals does not displace H2 gas from dilute HCl or dilute H2SO4?
1. Mg
2. Cu
3. Zn
4. Al
[bookmark: more]6. The property of metals by which they can be beaten in to thin sheets is called-
a. malleability
b. Ductility
c. conduction
d. Expansion

7. Which one of the following is metal?
a. C
b. N
c. Na
d. O

8. Which one of the following is non metal?
a. Zn
b. Al
c. Fe
d. N

9. All materials shown property of malleability expect
a. Iron
b. Graphite
c. Aluminium
d. Silver
Ans . 4. (b) 

10. Which one of the following is a good conductor of electricity?
a. Iron
b. Plastic
c. Wood
d. Glass

11. The property of metal by which it can be drawn into wires is called
a. Conductivity
b. malleability
c. Ductility
d. Decorating

12. The metals that produce ringing sounds, are said to be-
a. malleable
b. sonorous
c. Lustrous
d. hard
13. Which metal is found in liquid state t room temperature?
a. Fe
b. Zn
c. Hg
d. Al
14. The solution of ash of magnesium ribbon is-
a. Acidic
b. Basic
c. Neutral
d. All of these
15. What is the product when sulphur reacts with oxygen?
a. Sulphuric acid
b. Sulphur trioxide
c. Sulphurous acid
d. Sulphur dioxide


16. Which one of the following metal reacts vigorously with oxygen and water?
a. Sodium
b. Potassium
c. Calcium
d. Magnesium
Ans . 16. (a) 

17. Which metal is present in Calcium Hydroxide?
a. C
b. O
c. Ca
d. H

18. Which non-metal catches fire if the exposed to air
a. Sodium
b. Phosphorous
c. Calcium
d. Uranium

19. What is the chemical formula of copper sulphate?
a. CuSO4
b. CuCO3
c. CuCl2
d. CuO

20. Which gas are produced when metal react with acids
a. Oxygen
b. Nitrogen
c. Hydrogen
d. Carbon dioxide

1. The property of metals by which they can be beaten in to thin sheets is called-
a. malleability
b. Ductility
c. conduction
d. Expansion
Ans . 1. (a)
2. Which one of the following is metal?
a. C
b. N
c. Na
d. O
Ans . 2. (c)
3. Which one of the following is non metal?
a. Zn
b. Al
c. Fe
d. N
Ans . 3. (d)
4. All materials shown property of malleability expect
a. Iron
b. Graphite
c. Aluminium
d. Silver
Ans . 4. (b)
5. Which one of the following is a good conductor of electricity?
a. Iron
b. Plastic
c. Wood
d. Glass
Ans . 5. (a)
6. The property of metal by which it can be drawn into wires is called
a. Conductivity
b. malleability
c. Ductility
d. Decorating
Ans . 6. (c)
7. The metals that produce ringing sounds, are said to be-
a. malleable
b. sonorous
c. Lustrous
d. hard
Ans . 7. (b)
8. Which metal is found in liquid state t room temperature?
a. Fe
b. Zn
c. Hg
d. Al
Ans . 8. (c)
9. The solution of ash of magnesium ribbon is-
a. Acidic
b. Basic
c. Neutral
d. All of these
Ans . 9. (b)
10. What is the product when sulphur reacts with oxygen?
a. Sulphuric acid
b. Sulphur trioxide
c. Sulphurous acid
d. Sulphur dioxide
Ans . 10. (d)
11. When sulphur dioxide is dissolve in water then-
a. Sulphur is formed
b. Sulphur trioxide is formed
c. Sulphuric acid is formed
d. Sulphurous acid is formed.
Ans . 11. (c)
12. What is the chemical formula of sulphurous acid-
a. H2SO4
b. SO2
c. SO3
d. H2SO3
Ans . 12. (d)
13. The sulphuric acid turns blue litmus paper into-
a. Red
b. Green
c. Yellow
d. Dark blue
Ans . 13. (a)
14. Oxides of non metals are _______ in nature
a. Basic
b. Acidic
c. Neutral
d. All of these
Ans . 14. (b)
15. Sodium metal is stored in-
a. Water
b. Alcohol
c. Kerosene
d. Ether
Ans . 15. (c)
16. Which one of the following metal reacts vigorously with oxygen and water?
a. Sodium
b. Potassium
c. Calcium
d. Magnesium
Ans . 16. (a)
17. Which metal is present in Calcium Hydroxide?
a. C
b. O
c. Ca
d. H
Ans . 17. (c)
18. Which non-metal catches fire if the exposed to air
a. Sodium
b. Phosphorous
c. Calcium
d. Uranium
Ans . 18. (b)
19. What is the chemical formula of copper sulphate?
a. CuSO4
b. CuCO3
c. CuCl2
d. CuO
Ans . 19. (b)
20. Which gas are produced when metal react with acids
a. Oxygen
b. Nitrogen
c. Hydrogen
d. Carbon dioxide
Ans . 20 (c)
21. Which one of the following does not react with acids?
a. Cu
b. Ni
c. Cr
d. O
Ans . 21. (d)
22. Which one of the following gas burns with the “pop” sound?
a. Oxygen
b. Hydrogen
c. Chlorine
d. Hydrogen sulphide
Ans . 22. (b)
23. Which of the following can be beaten in to thin sheets?
a. Zinc
b.Phosphorus
c. Sulphur
d. Oxygen
Ans . 23. (a)
24. Which of the following statements are correct?
a. All metals are ductile
b All non metals are ductile
c Generally metals are ductile
d.some metals are ductile
Ans . 24. (c)
25. What happens when dilute sulphuric acid is poured on a copper plate?
a. Copper sulphate formed
b. Zinc sulphate formed
c. Copper chloride formed
d. Zinc sulphate formed.
Ans . 25. (a)
26. On burning metals react with oxygen to produce-
a. Metal hydroxide
b. Metal chloride
c. Metal oxide
d. Metal sulphate
Ans . 26. (c)
27. Which gas produced by piece of burning charcoal?
a. CO2
b. CO
c. H2S
d. O2
Ans . 27. (b)
28. Which non metal is essential for our life and inhale during breathing?
a. H
b. O
c. C
d. N
Ans . 28. (b)
29. Non metals used in-
a. Aeroplanes
b. making machinery
c. Water boilers
d. Fertilisers
Ans . 29. (d)
30. Which one of the following is applied on wounds as an antiseptic?
a. Metals
b. Non metals
c. Metalloids
d. All of these
Ans . 30. (b)
31. Which metal is found in plants?
a. Fe
b. Cr
c. Mg
d.CO
Ans . 31. (c)
32. Copper sulphate (CuSO4) possesses
a. Red colour
b. Blue colour
c. Green colour
d. Yellow colour
Ans . 32. (b)
33. Which one of the following are very reactive non metals
a. Sodium
b. Potassium
c. Carbon
d. Phosphorous
Ans . 33. (d)
34. Which one of the following is the good conducter of electricity?
a. Iron rod
b. Sulphur
c. Coal piece
d. Wood
Ans . 34. (a)
35. Which material show shiny appearance?
a. Coal
b. Sulphur
c. Aluminium
d. Carbon
Ans . 35. (c)
36. Which material is hard in nature?
a. Iron
b. Coal
c. Oxygen
d. Wood
Ans . 36. (a)
37. Gold is used in-
a. Thermometers
b. Fuel
c. Jewellery
d. Machinery
Ans . 37. (c)
38. Which one of the following metal is used thermometers?
a. Copper
b. Mercury
c. Aluminium
d. Iron
Ans . 38. (b)
39. Which one of the following can’t be drawn into wires?
a. Fe
b. Al
c. Cu
d. Coal
Ans . 39. (d)
40. Which substance is present in fuel?
a. Copper
b. Iron
c. Gold
d. Carbon
Ans . 40. (d)
41. Zinc replaces copper from-
a. Zinc sulphate
b. Copper sulphate
c. sulphuric acid
d. Copper oxide
Ans . 41. (b)
42. Metallic oxides are-
a. Acidic is nature
b. Neutral
c. Basic in nature
d. Either acidic or basic
Ans . 42. (c)
43. Aluminium foil used for wrapping-
a. Food
b. Clothes
c. Plastic
d. Wires
Ans . 43. (a)
44. Which one of the following is used for decorating sweets?
a. Aluminium foil
b. Copper foil
c. Silver foil
d. All of these
Ans . 44. (c)
45. Which one of the following enhances the growth of plants?
a. Industrial gadgets
b. Fertilisers
c. Automobiles
d. Water boilers
Ans . 45. (b)
46. Which one of the following is in crackers?
a. metals
b. Semi metals
c. Non-metal
d. All of these
Ans . 46. (c)
47. Hydrogen gas produce when metal react with-
a. Acid
b. Base
c. Salt
d. Both acid & base
Ans . 47. (b)
48. Which of the following can’t be beaten into sheets?
a. Zinc
b. Iron
c. Aluminium
d. Sulphur
Ans . 48. (d)
49. Heat conduction is the property of
a. Non-metal
b. Metal
c. Metalloids
d. All of these
Ans . 49. (b)
50. Moist air is the combination of-
a. H2O+CO2+O2
b. H2O+ CO+O2
c. H2O+CO2+H2
d. H2O+O2+H2
Ans . 50. (a)
	CCE :Class VIII :Metal and Non Metal : Fill in the blanks

	1. ---------- is liquid  metal

	 (mercury)

	2. ------ , -------------- and     ----------- are soft metal

	(Lithium, Potassium, Sodium)

	3.    ------------ and  ------------ are have low melting points. They melt in the palm of the hand

	(Gallium and Ceasium)

	4. Metals can be beaten into thin sheets so they are called     ----------------

	(malleable)

	5. ---------- is only liquid Non metals

	(Bromine)

	6.  -------------- is the hardest natural substance

	(diamond)

	7. Non metals are bad conductors of electricity  except ------------- 

	(graphite)

	8. Metals react with oxygen to form ---------- oxides (Basic)

	9. Some metal oxides show acidic and basic properties. They are called ---------. Eg :- Aluminum oxide, Zinc oxide etc.

	(amphoteric oxides)

	10. Al2O3  +  6HCl    ------ ----------  +  3H2O         

	(AlCl3)

	11.    Al2O3  +  NaOH     ------- --------    +  H2O   

	(NaAlO2)

	12. -------------- and  ---------does not react with oxygen even at high temperature.

	( Silver, gold)

	13. Metals like potassium and sodium react vigorously with oxygen and catch fire if kept in open. Hence they are stored in ------------ to prevent burning.

	(kerosene)

	14. Magnesium reacts only with ---------- water to form magnesium hydroxide and hydrogen.

	( hot)

	15. Metals like aluminium, iron and zinc react only with  ----  to form the metal oxides and hydrogen. (steam)

	16.  --------  gas is not evolved when metals react with nitric acid (HNO3) because it is a strong oxidising agent

	(Hydrogen)

	17. A more reactive metal displaces a ------- reactive metal from its salt solution

	(less)

	18. The arranging of metals in the decreasing order of their reactivity is called  -----------series of metals.

	( reactivity)

	19. Metals lose electrons and become positive ions. So they are called ------elements

	(electropositive)

	20. Non metals ----- electrons and become negative ions. So they are called electro negative elements

	(gain)

	21. ----------are compounds formed by the transfer of electrons from a metal to a non metal(Ionic compounds)

	22. If one of the metals in an alloy is mercury, it is called an  -------

	( amalgam)

	23. ---------is the damage caused to metals due to the reaction of metals with oxygen, moisture, carbon dioxide etc.  

	(Corrosion)

	24. Some elements show properties of both metals and non metals. They are called -----

	(metalloids)

	25. -------------is a mixture of concentrated nitric acid and concentrated hydrochloric acid in the ratio 1:3.

	( Aqua regia)



1 Match the following
a) Mercury                                                   a) Bad conductor
b) Sulphur                                                    b) Hydrogen gas
c) Gas that burns with ‘pop’ sound             c) Blood
d) Iron                                                              d) Thermometer
                                                                                                                                                                                                                                                                                             
2  Fill in the blanks
a) Acids turn ______ litmus to ______ litmus.
b) Bases turn ______ litmus to ______ litmus.
c) Metals form ______ oxides  and  non metals form ______ oxides.
d) Copper does not react with ______ acid  even on heating but it reacts with sulphuric acid.
e) A material which conducts electricity is called______.
f) Reactions of non metals with bases are ______.
                                                                                                                                                                                                    
3 Tick the correct option
a) A liquid metal ______
i) Sulphur     ii) Gold    iii) Mercury
b)    Metals, non metals and metalloids are _____      
i) Compounds    II) Elements     III) Matter
c)    Which is the best conductor of electricity.
i) Copper     II) Silver    III) Iron
d) Elements which are ductile and malleable are ______
i) Non- metals    II) Metals    III) Metalloids
4 Give one word/one sentence answer
a) Name a metal which can be cut with a knife.b) Name the metal used in thermometer.
c) Give the reactivity series of Cu, Zn and Fe.
d) Which gas is evolved when metals react with sodium hydroxide  and water.
e) What is the colour of CuSO4 and ZnSO4 ?
f)  Non-metals react with water or not.
g) Name  the acid formed when sulphur dioxide is dissolved in water.
5 Write true or false
a) Generally  non -metals do not react with water and acids.
b) Metals do not react with bases.
c) Silicon is an example of metalloid.
d)Element does not contain one kind of atom.
6 Give  reasons
a) Phosphorus is stored under water.
b) Handle of screw driver is not made up of metal.
c) Metallic pan has wooden handle.
d) Bells are made up  of metals and of wood.
e) Metals are drawn into wires and beaten into sheets.
7 a) Give differences between Metals and Non metals on the basis of their physical properties and 
chemical properties.
b) Draw  a diagram of ‘Electrical Tester’.
8 Answer the following questions
a) Give 3 examples of each i) Metals  II) Non metals.
b) Why does a copper vessel acquire green coating if it is exposed to moisture for a long time. Write 
the reaction also.c) What is rusting of iron? Write the reaction also.
d) Write 5 uses of metals.
e) Write 5 uses of non metals.
f) Write the reaction for displacement reaction and explain it.
9 Complete the reactions and write in words
a)2 Mg + O2 ----
b) SO2 +H2O ------
c) CuSO4 +Zn -------
d) Fe + O2 + H2O -------
e) 2Cu + H2O +CO2 + O2 ------
f) FeSO4 + Cu -----
g) CuSO4 + Fe ------
h) ZnSO4 + Fe -------
                            
mcq on coal and petrolium for class 8
1. When heated in air produces
a. Carbon monoxide
b. Carbon dioxide
c. Nitrogen dioxide
d. Oxygen
2. Coal is produced in industry to get
a. Coke
b. Coal tar
c. Coal gas
d. All of these
3. Coke is used in the manufacturing of
a. Lead
b. Iron
c. steel
d. Copper
4. Which is an almost pure form of carbon?
a. Coke
b. Coal tar
c. Coal gas
d. None of these
5. The characteristic of coal is
a. tough
b. Black in colour
c. Porous
d. All of these
6. Coal tar has an _________ smell.
a. Unpleasant
b. Pleasant
c. Both (a) & (b)
d. None of these
7. Coal tar is used in manufacture of
a. Synthetic dyes
b. Drugs
c. Explosives
d. All of these
8. Naphthalene balls are obtained from
a. Carbon
b. Coke
c. Coal tar
d. Coal gas
9. Which gas is obtained during the processing of coal?
a. Carbon dioxide
b. Coal gas
c. Carbon monoxide
d. Sulphur dioxide
10 Heavy motor vehicles like trucks run on
a. Petrol
b. Diesel
c. Coal
d. Coal tar
11. Petrol and diesel can be obtained from
a. Coal tar
b. Coal
c. Petroleum
d. Coal gas
12. Petroleum is formed from
a. Domestic animals
b. Organisms in sea
c. Wild animals
d. Insects
13. Petroleum is mixture of
a. Petrol
b. Diesel
c. Petroleum gas
d. All of these
14. The layer containing petroleum oil & gas is
a. Above that of water
b. Below water
c. Between water and sand
d. Below sand
15. Refining is
a. Extracting petroleum gas
b. Separation of various fractions of petroleum
c. Heating of coal
d. Sedimentation of fossil fuel

.1 Fill in the blanks:-
(i) On heating in air, coal mainly produces ________ gas.
(ii) ________ is an almost pure form of carbon.
(iii) Coal tar is a mixture of about ________ substance..
(iv) Now a days ________, a petroleum product is used in place of _______for metalling the roads.
(v) ________ is used as a fuel in light automobiles whereas heavy motor vehicles run on ________.
Answer these questions
Q.2 What are natural resources?
Q.3 Give three examples of natural and man-made material?
Q.4 What are the two kinds of natural resources? Explain giving examples?
Q.5 What are fossil fuels? Give three examples?
Q.6 Write two uses of coke?
Q.7 Name four substances which are manufactured using products obtained from coal tar?
Q.8 How is petroleum formed?Q.9 Name three places in India where petroleum oil is found.
Q.10 What is petroleum refining?
Q.11 Write two uses of petrol, kerosene, diesel, paraffin wax and bitumen?
Q.12 Why is CNG being used as a fuel for vehicles?
Q.13 Explain why should we use fossil fuels only when absolutely necessary.
Q.14 What is the full form of LPG and CNG?
Q.15 What are the tips given by PCRA to save petrol and diesel?
Q.16 Why is petroleum called black gold?
Q.17 Give two advantages of natural gas as a fuel.
Q.18 Explain why coal, petrol and diesel oil will be exhausted one day.
Q.19 Write any two ways in which we can conserve fossil fuels.
Q.20 Write three ways in which we can help to meet energy crisis.
Q.21 Why are petrol, coal called non-renewable resources?
Q.22 What are the advantages of using inexhaustible resources of energy?
Q.23 Write the composition of natural gas.
CBSE 8th Science Ch.5.Coal and Petroleum Solved questions
	CBSE Class VIII (8th) Science | Chapter 5. COAL AND PETROLEUM

	Q. What is Fuel?

	Ans: Substances that burn in air to give heat energy are called fuels.

	Q. What is Fossil Fuels?

	Ans: A Naturally occurring substances that are extracted from the earth crust and also used as fuels is called Fossil Fuels like Coal, crude oil and natural gas.

	Q.What is different types of coal?

	Ans: 1. Lignite (Brown Coal) contains 25 – 35 % carbon.

	2. Bituminous coal (Soft coal)  contains 45 – 86 % carbon.

	3. Anthracite coal (Hard coal - It has the highest heat energy) contain 87 – 97%carbon.

	Q. How coal is formed ?

	Ans: Coal is formed by degradation of wood under the influence of high pressure and temperature over millions of years is called carbonization.

	Q. What is destrictive distillation of coal?

	Ans: When coal is heated in the absence of air is called destructive distillation of coal.

	Q. What are the different products obtain from destructive distillation of coal?

	Ans:

	Different products
	Uses

	1. Coal Gas - main constituent are H2,CH4 and CO
	As a fuel in cooking food , street lighting

	2. Liquid Ammonia
	To make fertilizers

	3. Gas Carbon
	Carbon electrodes in batteries

	4. Coke(grayish Black)
	As a fuel and as a reducing agent in steel manufacturing,
Produce fuel gas like water gas (CO+H2) and Producer gas(CO+N2)  
For producing Carbide like CaC2,SiC , and Al4C3

	5. Coal Tar (black Terry material)
	To make plastics, paints,  dyes, naphthalene balls and explosives, Perfumes

	Q. What do you mean by  fractional distillation?

	Ans: The process of heating a mixture of many liquids having different boiling points and separating them by cooling is called fractional distillation.



	Q. How Petroleum and Natural Gas are formed?

	Ans: Dead plants and animals buried at the bottom of the sea millions of years ago. They got covered with layers of sand and clay. Due to high pressure and temperature, they got transformed into petroleum.
Petroleum is obtained by drilling through the earth. The crude oil is pumped out from a well as a black liquid.

	Q. How do various constituents  of petroleum is separated?

	Ans:  Various constituents of petroleum are separated by fractional distillation in fractionating  columns is known as refining of petroleum. The various fractions of petroleum obtained are



	Fraction
	Uses

	Petroleum Gas
	Fuel for home (LPG)

	Petrol
	Motor fuel

	Kerosene
	Fuel for stove and jet aircrafts.

	Diesel
	Fuel for heavy motor vehicles.

	Lubricating oil
	Lubrication

	Fuel Oil
	Fuel for Power Stations and Ship

	Paraffin wax
	Candles, Vaseline

	Bitumen
	Paints, road surfacing



	Q. How is natural gas formed?

	Ans: Natural gas is formed whenever vegetation decomposes in marshes, sewage and in coal or petroleum mines. It is made up of 90 % methane.

	Q.What are the main uses of Natural gas

	Ans: (a) it is used for producing H2 gas by heating 1250k .

	(b) For manufacturing Carbon black that is used in rubber industry as reinforcing agent to make tyre.

	(c) For manufacturing Petrochemical and fertilizer

	Q. Why natural gas is called an ideal fuel?

	Ans:  It is an ideal fuel because

	 (a) Burn with smoke less flame

	(b) Do not leave ash

	(c) Having high calorific value about 55kgJ/g

	1 mark Questions

	1. The slow process of conversion of dead vegetation into coal is called ________

	Ans:Carbonization

	2.Naphthalene balls are obtained from __________

	Ans: Coal tar

	3.A petroleum product known as __________ is used for metalling the roads.

	Ans: Bitumen/Asphalt

	4. Natural gas is stored under high pressure as _________

	Ans: CNG

	5.__________ is a cleaner fuel.

	Ans: CNG

	6.---------is used as a fuel in jet aircraft.

	Ans: Kerosene oil

	7.------- is the petroleum gas which has been liquefied under pressure.

	Ans: LPG

	8. The major constituent of CNG is ___________and LPG is ---------

	Ans: Methane ,Butane

	9. ___________ is the best known reinforcing agent in rubber industry

	Ans: Carbon black

	10.The quality of gasoline is generally expressed in terms of _________

	 Ans: Calorific value 

	 2 marks Questions

	1. How natural gas is transported from place to place?

	Ans: Natural gas is transported from place to place through pipeline

	2. Name three variety of coal.

	Ans: Anthracite, Bituminous and Lignite

	3. Why do we need to conserve fuel judiciously?

	Ans: The consumption of fuel increases rapidly due to growth of population and these fuels cannot replenish easily we feel to conserve it by using economically and wisely.

	4. Distinguish between exhaustible & inexhaustible natural resources. Give examples.

	Ans: The resource those are available for limited period for use is called exhaustible natural resources like Coal, petroleum, Natural gas etc.

	The resource that are available for unlimited period for use is called inexhaustible natural resources like wind ,water, sunlight etc

	5. Name a product of coal which is used in the manufacture of steel. What are its characteristics? 

	 Ans: Coke is a product of coal which is used in the manufacture of steel. It contain 98% carbon

	3 mark Questions.

	1. Why petroleum is also called black gold?

	Ans: The constituents of petroleum are very useful for us. Due to its great commercial importance, petroleum is also called 'black gold'.

	2.What is petroleum? How different fractions of petroleum are separated?

	Ans: A dark coloured florescent liquid which occur deep inside the earth is called petroleum.

	The process of separating various constituents / fractions of petroleum  is fractional distillation in fractionating columns.

	3. Describe the advantages of using natural gas.

	Ans:   (a) Burn with smoke less flame

	(b) Do not leave ash

	(c) Having high calorific value about 55kgJ/g

	4. We often use LPG in our home for cooking. How you detect the leakage of gas? What substance is added to LPG for this purpose?

	Ans: A gas like hydrogen sulphide which smells like rotten eggs is added to natural gas.

	5. What are the harmful effects of burning fossil fuels? How it affect the environment?

	Ans: (a)the increases in carbon dioxide lead to large scale environmental damage such as acid rain. 
(b)Carbon dioxide that the remains in the upper atmosphere will tend to trap sun rays, which is called the "greenhouse effect" and leads to global warming.

	(c) people can become sick from breathing carbon monoxide emitted from vehicles.
(d) Burning of coal releases sulfur and nitrogen, which help form acid rain
6. Explain petrochemicals?

	Ans: Many useful substances are obtained from petroleum and natural gas. These are termed as Petrochemicals. These are used in the manufacture of detergents, fibres (like polyester, nylon, acrylic), polythene and other man-made plastics. 

	5 marks Questions

	1. What are the different constituents of petroleum and their uses?

	Fraction                       Uses   

	Petroleum Gas                        Fuel for home (LPG)

	Petrol                           Motor fuel

	Kerosene                     Fuel for stove and jet aircrafts.

	Diesel                          Fuel for heavy motor vehicles.

	Lubricating oil              Lubrication

	Fuel Oil                                    Fuel for Power Stations and Ship

	Paraffin wax               Candles, Vaseline

	Bitumen                       Paints, road surfacing

	2. What do you mean by PCRA? What are their tips?

	Ans: In india, the Petroleum Conservation Research Association(PCRA) advises people how to save petrol/diesel while driving. Their tips are
● Drive at a constant and moderate speed as far as possible.
● Switch off the engine at traffic lights or a t a place where you have to wait.
● Ensure correct tyre pressure.
● Ensure regular maintenance of the vehicle.

	3. We know that coal is formed from dead vegetation. Explain the process of formation of coal.

	Ans: Three hundred and fifty million years ago, some plants grew into giant ferns and mosses. These plants got buried into the bottom of the soil and deposited as fossil due to heat and pressure. The decaying plants were pressed and coal was formed.

	4. Name, constituent of petroleum which is used for following purposes.

	

	 (i) To make candles. 

	(ii) A solvent for dry cleaning

	(iii) For surfacing roads.

	(iv) Jet engine fuel.

	(v) For lubrication.

	Ans: (1) Parafin wax

	        (ii)petrol

	        (iii)Bitumen

	        (iv) kerosene

	       (v)lubricating Oil



8th Combustion and Flame Notes
A chemical process in which a substance reacts with oxygen to give off heat is called combustion.
The substance that undergoes combustion is said to be combustible.
The substances that do not burn on being exposed to flame are called  non-combustible  substances.
like stone, glass, iron nails, etc.
Ignition temperature:  The lowest temperature  at which a fuel catches fi re is called  its ignition temperature.
Types of combustion : Combustion can be of different types.  It can be spontaneous, rapid, slow or incomplete.
Spontaneous combustion: combustion reaction that occurs without the help of any external heat is called spontaneous combustion e.g. When white phosphorus is exposed to air at room temperature, it
catches fi re immediately; even without  being lit by a match stick
Rapid combustion : combustion reaction that occurs with the help of any external heat is called Rapid combustion e.g. Bursting of fire crackers, burning of camphor. Magnesium wire in air, gas in a burner and kerosene  in a stove
Slow combustion :
 Combustion that takes place at a very slow rate is called slow combustion.
During this type of combustion low heat and light are produced. Food oxidized  in our body to release energy is an example of slow combustion.
Glucose + Oxygen   --------- Carbon dioxide + water + energy
Incomplete combustion : Combustion takes place in the presence of oxygen. If the supply of oxygen
is insufficient, then combustion will be incomplete. This is called incomplete combustion. Carbon forms carbon monoxide when it undergoes incomplete combustion.
                 Carbon +   Oxygen   ------- carbon monoxide
FIRE CONTROL
Fire can be controlled and extinguished by
1.  Removing any combustible materials near the region of fi re.
2.  Cutting off the supply of air by  using sand or blanket.
3.  Bringing down the ignition temperature by using water
Water should not be used for oil fire. Why?
 Oil being lighter, fl oats, spreads and causes severe damage. So, oil fi re should be extinguished by using substances called foamite.
How does fires caused by electrical appliances or installations extinguished?
Fires caused by electrical appliances or installations extinguished by using solid carbon dioxide
or carbon tetrachloride. The risk of electrical shock is too great, if water is used.
FLAME AND ITS STRUCTURE
Different parts of a candle ﬂ ame

Zone of non-combustion: This is the dark zone that lies around the wick. It contains  un burnt gas particles. No combustion takes place here as no oxygen is available.
Zone of partial combustion: In this zone, the hydrocarbons present in the oil gas decompose
into free carbon and hydrogen. The un burnt carbon particles impart a pale yellow colour to the flame. This is the luminous part of the flame.
Zone of complete combustion (blue) : This is the non-luminous thin zone  of the flame. It is the outermost hottest region in the fl ame that is invisible. Here, carbon and hydrogen are completely oxidized to Carbondioxide and water vapour.
Carbon + Oxygen ------  Carbon monoxide (blue flame)
Carbon monoxide + Oxygen--------- Carbon dioxide + Water (vapour)
Fuel: Any substance that can be burnt or otherwise consumed to produce heat energy is called a fuel. Wood, natural gas, petrol, kerosene, diesel, coal, and LPG are commonly used as fuels
Characteristics of a Good Fuel
1.  It should be cheap and readily available.
2. It should be easy to store, transport and handle.
3.  It should not produce toxic fumes or smoke or other harmful products on combustion.
4.  The amount of soot or ash left behind should be minimum.
5.  It should have a high calorific value.
6.  It should have a low ignition temperature.
Calorific Value: The amount of heat energy liberated when 1 kg of the fuel is burnt completely in oxygen is called the calorific value of the fuel.
Types of Fuels
There are three types of fuels. They are solid, liquid, and gaseous fuels
Solid Fuels
Coal, wood, charcoal, coke, and paraffin are some commonly used solid fuels.
The drawbacks of solid fuels are as follows:
1. They have a high ignition temperature.
2. They produce a large amount of residue (soot, ash) after combustion.
3. Their calorific value is low
Liquid Fuels : Petrol, kerosene, and diesel are some commonly used liquid fuels
which are obtained from petroleum (an oily mixture of hydrocarbons in its crude form). Ethyl alcohol is also a liquid fuel. Locomotives, buses, and lorries use diesel as the fuel.
Gaseous Fuels :Gases such as methane, carbon monoxide and hydrogen are combustible. Natural gas, producer gas, coal gas, water gas, LPG (liquefi ed petroleum gas), and biogas (gobar gas) are other examples of gaseous fuels

Why gaseous fuels do are referred over solid and liquid fuels?
.Gaseous fuels are preferred over solid and liquid fuels because of the following advantages.
•  They have a low ignition temperature.
•  They burn completely (complete combustion) and leave no residue (soot, ash, smoke).
•  They are easy and safe to handle, transport, and store.
• They have a high calorific value.
• They are cheap.

Harmful effects of burning of fuel on the environment.
1. Carbon fuels like wood, coal, petroleum release unburnt carbon particles. These fine particles are dangerous pollutants causing respiratory diseases such as asthma.
2. Incomplete combustion of these fuels gives carbon monoxide gas. It is a very poisonous gas. It is dangerous to burn coal in a closed room. Because the carbon monoxide gas produced can kill persons sleeping in that room.
3. Combustion of most fuels releases carbon dioxide in the environment. Increased concentration of carbon dioxide in the air is believed to cause global warming.
4. Burning of coal and diesel releases sulphur dioxide. It is an extremely suffocating
and corrosive gas. Moreover, petrol engines give off gaseous oxides of nitrogen. Oxides of sulphur and nitrogen dissolve in rain water and form acids
	1. Chose the substances which will produce flame on burning and why?  Charcoal, molten wax, paper, coal, mustard oil.

	Ans: molten wax and mustard oil.

	2. Draw a well labeled diagram for the flame of a candle and answer the following

	Questions:

	(a) Which zone is luminous and why ?

	(b) Why is the innermost zone grey in colour and the coldest zone ?

	(c) Which zone is called the zone of complete combustion and why?

	Ans: (a) inner most zone is luminous due to partial combution . The unburnt carbon particles impart a pale yellow colour to the flame.

	(b) The innermost zone is grey in colour and the coldest zone because It contains unburnt gas particles. No combustion takes place here as no oxygen is available.

	(c)Outer most zone is called the zone of complete combustion Here, carbon and hydrogen are completely oxidized to Carbon dioxide and water vapour.

	[image: http://1.bp.blogspot.com/-p9Nh8QJ5VEs/UCcINrfddPI/AAAAAAAAA-A/vuctNcbT2pY/s320/cndel+zone.jpg]

	3. Calorific value of wood is approx.17000-22000kj/kg .what does it mean?

	Ans: when 1 kg  fue (wood)  is burnt completely in oxygen produce approx.17000-22000kj heat energy.

	4. Why is it dangerous to burn coal in a closed room?

	An: When coal burn  in a closed room produce toxic fumes or smoke or other harmful product .

	5. Write any four characteristics of good fuel .

	Ans: he main characteristics of a good fuel are :-

	i) Is readily available and cheap. ii) Does not leave behind any undesirable substances.

	iii) Is easy to store and transport.  iv) Burns at a moderate rate.  

	 v) Produces a large amount of heat.    vi)  Does not cause pollution.

	6. Name the gases which lead to formation of acid rain?

	Ans: Oxides of sulphur and nitrogen dissolve in rain water and form acids. Such rain is called Acid Rain. It is very harmful for crops, buildings and soil.

	7. In an experiment 10 Kg of a fuel produced 200,000 KJ 0f heat . Calculate the calorific value of the fuel

	Ans: The calorific value of a fuel :- is the amount of heat energy produced on complete combustion of 1 kg of a fuel. The calorific valve of a fuel is expressed in kilo joule per kg.

	The calorific value of the fuel = 200,000 KJ/10 Kg =200,00 KJ/kg

	8. How does CO2 help in fire fighting?

	Ans: Carbon dioxide is the best fire extinguisher to put out fire caused by inflammable materials like oil and petrol and electrical equipments. Carbon dioxide is heavier than air and it covers the fire and cuts off the supply of oxygen and puts out the fire.

	9. What are the drawbacks of using solid fuel?

	Ans: The drawbacks of solid fuels are as follows:

	1. They have a high ignition temperature.

	2. They produce a large amount of residue (soot, ash) after combustion.

	3. Their calorific value is low.

	10. What are the harmful effects on the environment due to burning of fuels?

	Ans: i) Fuels like wood, coal, petroleum release unburnt carbon particles which cause respiratory diseases like asthma.

	ii) Incomplete combustion of fuels release carbon monoxide gas which is a very poisonous gas which can cause death.

	iii) Burning of most fuels release carbon dioxide gas which causes rise in the temperature of the atmosphere. This is called global warming. It causes melting of polar ice, rise in sea level and flooding of coastal areas.



Q.1 Name a few fuels used in our homes.
Q.2 Name a few fuels used in trade and industry.
Q.3 What fuels are used for running automobiles?
Q.4 What is the difference between the burning of a candle and burning of a fuel like coal?
Q.5 What is combustion?
Q.6 Define a fuel?
Q.7 (i) What are the essential conditions required for combustion?
(ii) What is the essential condition required for extinguishing fire?
Q.8 What are inflammable substances?
Q.9 In what form is LPG stored in cylinders?
Q.10 Name the most common fire extinguisher?
Q.11 Water is not suitable for extinguishing fires involving electrical equipment oil and petrol. Why?
Q.12 Explain how CO2 is able to control fires?
Q.13 What are the requisites (qualities) of a good (ideal) fuel?
Q.14 Explain the following terms:-
(i) Global warming
(ii) Acid rain
Q.15 Suppose you are asked to boil a given quantity of water using cow dung  cake, coal and LPG as fuels. Which fuel would you prefer? Give your reason.
Q.16 Define calorific value of a fuel. Though hydrogen has got highest calorific value but it is not used as a domestic fuel. Why?
Q.17 Make a labeled diagram of a candle flame.
Q.18 Name various types of combustion. Give example of each type?
Q.19 Differentiate between. 
      (a) Combustible and non combustible substances 
      (b) Complete combustion and incomplete combustion.
      (c) Luminous and Non-luminous flames. 
Q.20 Define the term ignition temperature. Why substances like alcohol and petrol are called inflammable substances? 
========================================================

8th ALGEBRAIC EXPRESSION AND IDENTITIES
Type-1
1. If ( x +  1/ x ) = 4,  Find the value of ( x2 +  1/x2 ) and (x4  +  1/x4 )

2. If ( x - 1/ x ) = 3 .Find the value of   (x3 + 1/x3 )

3. Find the remainder obtained by dividing x3 + 3 x2 - 5x + 4 by x + 1

4. Evaluate using algebraic identities   (54)2   ;   (78)2; (999)2

5. If x - y = 7,   x y = 9 Find the value of  x2 + y2

6. If x + y = 12  ,   x y = 27  Find the value of  x3 + y3

7. If a2 + b2 + c2  =20 , a + b + c = 6  find a b + b c + ca

8. If ( x2 +  1 / x2 ) = 83 .  Find     (x3 - 1 / x3 )

9. What must be subtracted from 4p2 - 2pq - 6q2 - r +5 to get      - p2 + p q - 8q2 - 2r+5

10. Factorise  a3 + b3 + c3 - 3 a b c

11. Divide         (1)    x3 - 1 by  x - 1          (2)     7 +15x -13x2 +5x3 by 4 - 3x + x2

12. Evaluate    (1)   1.5 3 - 0.93 - 0.63      (2)    (a - b) 3 + (a + b) 3      (3)   (x + 2y -3z)2 +   (x - 2y +3z)2

13.  If (x4 + 1 / x4 ) = 47 find the value of   (x3 + 1 / x3 )

14. Find the product of    (1) (x4 + 1/x4 ) and ( x +  1/x )   (2)  (2x2 + 3x - 7)(3x2 -5x - 4)

15.Two adjacent side of a rectangle are 5x2-3y2 and x2 - 2xy Find its perimeter

16.The perimeter of a triangle is 6p2 - 4p + 9 and two of its  adjacent side are 

 p2 - 2p + 1 and  3 p2 - 5p + 3. Find third side of triangle.

17. Find the least no. of 5 digits which is perfect square.

18. Find the greatest num. of 6 digits which is perfect square.

19. Evaluate        (1)   (5-1 x  3-1 )-1 x 6-1                               (2)   ( 23x+1  +10 ) / 7 = 6
 (3) [52x+1]/ 25 = 125                                         (4) (4/9)4  x (4/9) - 7     =   (4/9) 2x – 1

Type -II
1.     Numerical coefficient of 8x3yz2 is ________         

2.     Monomial is a ________________

3.         Write like terms from 2x2, 2x, 2x3, - 5x, 11x4                                          

4.     Write numerical coefficient of . 3x3yza2

5.     Find area of rectangle with sides 3x and 5y         

6.     Factorise 3xy + 9x2y3

7.     Divide 7x2y2z2 ÷ 21xyz  

8.     Subtract 5x2 – 4y2 + 6y – 3 from  7x2 – 4xy + 8y2 + 5x – 3y.

9.     Add 4y (3y2 + 5y – 7) and 2 (y3 – 4y2 + 5)            

10.  Simplify (a + b) (2a – 3b + c) – (2a – 3b) c.        

11.  . Simplify (a + b + c)(a + b – c)

12.  find the products. (i) (2a2 + 9) (2a2 + 5)  (ii) (0.4p – 0.5q)2    

13.  Simplify.  (m2 – n2m)2 + 2m3n2                 

14.  Evaluate (i) 9982   (ii) 297 × 303 (iii) (1.02)2 – (0.98)2

15.  Find the value of x2+y2 if x+y =12 and xy= 14

16.  Find the value using algebric formula i] 93x94     ii]  7042

17.  Find value of x2+y2       if x+1/x=3

18.  By division show that x-1 is factor of x3-1

19.  Factories:         25-a2-b2-2ab
20.  Subtract: 3a (a + b + c ) – 2 b (a – b + c) from 4c ( – a + b + c )

21.  If ( x + 1 / x ) = 4,  Find the value of      ( x2 + 1 / x2 ) and (x4 + 1 / x4 )

22.  If ( x - 1/ x ) = 3 .Find the value of   (x3 + 1 / x3 )

23.  Find the remainder obtained by dividing  x3 + 3x2 - 5x +4 by x + 1

24.  Evaluate using algebraic identities   (54)2, (78)2 (999)2

25.  . If x - y = 7  ,   xy = 9  Find the value of  x2 + y2

26.  If x + y = 12 , xy = 27  Find the value of x3 + y3

27.  If a2 + b2 + c2  =20 , a + b + c = 6  find  ab + bc + ca

28.  If ( x2 + 1 / x2 ) = 83 .  find  (x3 - 1 / x3 )

29.  What must be subtracted from   4p2-2pq- 6q2 - r +5 to get  - p2 + p q - 8q2 - 2r+5

30.  10..Devide (1)    x3 - 1 by  x - 1   (2) 7 +15x -13x2 +5x3 by 4 - 3x + x2

31.  Evaluate(1) 1.5 3 - 0.93  - 0.63  (2) (a - b )3 + (a + b )3  (3) (x + 2y -3z)2 +(x - 2y +3z)2

32.  . If (x4 + 1 / x4 ) = 47    find the value of   (x3 + 1 / x3 )

33.  13.Find the product of   (1) (x4 + 1 / x4 ) and      ( x + 1 / x )   (2)  (2x2 +3x - 7)(3x2 -5x - 4)

34.  Two adjacent side of a rectangle are 5x2-3y2 and x2 - 2xy Find its perimeter

35.  The perimeter of of a triangle is 6p2 - 4p + 9 and two of its adjacent side are   p2 - 2p + 1 and  3p2 - 5p + 3. Find third side of triangle.

1. Factorise the following expressions:
(i) 7x – 42        (ii) 6p − 12q (iii) 7a2 + 14a   (iv) −16z + 20z 3
(v) 20 l2 m + 30 a l m
(vi) 5x2y − 15xy 2
(vii) 10a2 − 15b2 + 20c2       
(viii) −4a2 + 4ab − 4 ca
(ix) x2 y z + xy2z + xyz2 (x) ax2y + bxy2 + cxyz
2. Factorize:     (i) x2 + x y + 8x + 8y (ii) 15xy − 6x + 5y – 2 (iii) ax + b x − ay – by
(iv)15pq + 15 + 9q + 25p       (v) z − 7 + 7xy – xyz
3. Add: 7xy + 5yz – 3 z x , 4yz + 9zx – 4 y , –3xz + 5 x – 2xy.
4. Subtract    (i) 5x2 – 4y 2+ 6y – 3 from 7x2 – 4xy + 8y2 + 5 x – 3y. 
(ii) Subtract 4p2q – 3pq + 5pq2 – 8p + 7q – 10 from 18 – 3p – 11q + 5pq – 2pq2 + 5p2q
5. Find the product (i) 2x (3x + 5xy) (ii) a2 (2ab – 5c)
6. Simplify the expressions and evaluate them as directed:
(i) x (x – 3) + 2 for x = 1, (ii) 3y (2y – 7) – 3 (y – 4) – 63 for y = –2
7. Add    (i) 5m (3 – m) and 6m2 – 13m (ii) 4y (3y2 + 5y – 7) and 2 (y3 – 4y2 + 5)
8. Simplify (a + b) (2a – 3b + c) – (2a – 3b) c.
9. Simplify.(i) (x2 – 5) (x + 5) + 25    (ii) (a2 + 5) (b3 + 3) + 5  (iii) (t + s2) (t2 – s)  
(iv) (a + b) (c – d) + (a – b) (c + d) + 2 (ac + b d)      (v) (x + y)(2x + y) + (x + 2y)(x – y) 
(vi) (x + y)(x2 – xy + y2)  (vii) (1.5x – 4y)(1.5x + 4y + 3) – 4.5x + 12y   (viii) (a + b + c)(a + b – c)

10.Simplify.(i) (a2 – b2)2 (ii) (2x + 5)2 – (2x – 5)2 (iii) (7m – 8n)2 + (7m + 8n)2 
(iv) (4m + 5n)2 + (5m + 4n)2 (v) (2.5p – 1.5q)2 – (1.5p – 2.5q)2    (vi) (a b + b c)2 – 2ab2c 
(vii) (m2 – n2m) 2 + 2m3n2
11. Show that. (I)(4pq + 3q) 2 – (4pq – 3q) 2 = 48pq2
(II) (a – b) (a + b) + (b – c) (b + c) + (c – a) (c + a)  = 0
12. Find product using algebraic formula (i) 103 × 104 (ii) 5.1 × 5.2 (iii) 103 × 98 (iv) 9.7 × 9.8
13. If ( x + 1 / x ) = 4,  Find the value of ( x2 + 1 / x2 ) and (x4 +1 / x4 )
14. If (x –   = 3 .Find the value of   (x3 + 1 / x3 )
15. What must be subtracted from 4p2- 2pq - 6q2 - r + 5  to get - p2 + p q - 8q2 – 2 r + 5
16. Evaluate  (i)   ( 23x+1  + 10 )   7 = 6 (ii) 52x+1    25 = 125  
17. Find the value of x2+y2 if x +y =12 and x y= 14
18. By division show that x-1 is factor of x3-1
19. Factories: (i)  25-a2-b2-2ab (ii)  x2 − 12x + 27
20. (x 4 + 1 / x 4 ) = 47 find the value of   (x3 + 1 / x3)
21.  Find the product of (x4 + 1 / x4) and (x + 1 / x)  
22. Divide (I) x3- 1 by (x – 1)
  (ii)  7 +15x -1 by   3x2 +5x3  by   4 - 3x +  x2
24. (i) If a 2 + b 2 + c 2   = 20 , a + b + c = 6  find  a b + b c + ca (ii) Factorise 5 k2 + 40k + 75
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IMPORTANT FORMULAE

Triangle 1

1)  Areaofatriangle = 7 x Base x Height

2) Areaofatriangle = \75 (s-a)(s-b) (s-c) wheres= S=a*b*Canda,b,carethe sides of the triangle
3) Areaofequilateral triangle =\/%_ (side)? N

Quadrilateral

1)  Areaofarectangle = Length x Breadth

2) Areaofasquare =(side)?

3) Areaofarhombus= 7 (Productof diagonals)

4)  Areaofaquadrilateral = 7 diagonal (sum of its offsets)

5) Areaofatrapezium= 7 (sum ofits parallel sides) x Height

Circle

1) Circumference of a circle = 21T (radius)

2)  Areaofacircle =1 (radius)?

3) Areaofasector=T1 %: x (radius)?where 6 is the angle of the sector
4)  Areaofaring =1 (R?-r?), where Randrare external and internal radii.
Cuboid: Letl,band h be its length, breadth and height respectively.
1) Volume=Ixbxh

2)  Surface area of the cuboid = 2(Ib+bh+hl)

3)  Diagonal ofthe cuboid = \[F + b2 + h?

Cube

1) Volume of the cube = a®where ais the edge

2)  Surface area of the cube = 6a?

3) Diagonal ofthe cube = NEES

Right Circular Cylinder : Letr and h be the radius of the base and height of the cylinder respectively.
1)  Volume-1rr*h

2) Curvedsurfacearea=21mrh

3) Wholesurfacearea=21mr (h+r)

Right Circular Cone : Letr be the radius of the base, h the height and | the slant height of the cone.
1) I= \/h2 +r?

2)  Volume=+Trzh

3) Curvedsurface=1rrl=1r fpz+ 2

4)  Wholesurface=1r(l+r)

Sphere and Hemisphere

1) Vqume=%Trr3 whereris the radius of the sphere

2) Surfacearea=4trr?

3)  Curvedsurface area of hemisphere = 21 r?

4)  Whole surface area of hemisphere = 31 r?
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